TESMUS

DAILY CURRENT AFFAIRS QUIZ

Saturday, 31 December 2022

1. Legendary football player Pele (Edson
Arantes do Nascimento), who has passed
away recently, hails from which country?

(A) Brazil (B) Argentina

(C) France (D) Portugal

(E) Spain

2. India-assisted Mangdechhu Hydroelectric
Power Project has been recently handed over
to which country?
(A) Sri Lanka

(C) Bangladesh
(E) Myanmar

(B) Bhutan
(D) Nepal

3. PM Narendra Modi's mother Heeraben
Modi, who passed away recently, belongs to
which community?

(A) Artisan community

(B) Kshatriya community

(C) Modh-Ghanchi community

(D) Tribal community

(E) Devipujak community

4. Who has been named as acting Central
Vigilance Commissioner?

(A) Suresh N Patel  (B) Sanjay Kothari

(C) Sharad Kumar (D) Praveen K Srivastava
(E) Pradeep Kumar

5. Which state has become first in the
country to pass the Lokayukta Bill?

(A) Maharashtra (B) Tamil Nadu

(C) Telangana (D) Karnataka

(E) Kerala

1-{A} - 2-{B} - 3-{C} - 4-{D} - 5-{A} -

6. Recently, launched draft guidelines for a
new ranking system of cities by Union
Minister of Housing and Urban Affairs,
Hardeep Singh Puri is based on which
elements?

(A) Population and Production

(B) Finance and Beauty

(C) Territory and Development

(D) Greenary and Taxes

(E) Sovereignty and Peace

7. Who has been sworn in as the Prime
minister of Israel in December 2022?

(A) Yair Lapid (B) Naftali Bennett
(C) Benjamin Netanyahu(D) Benny Gantz

(E) Miriam Haran

8. Who has launched '"Stay Safe Online"
Campaign and "G20 Digital Innovation
Alliance"?

(A) Narendra Modi
(C) Amit Shah

(E) Draupadi Murmu

(B) Piyush Goyal
(D) Ashwini Vaishnaw

9. Which app has recently launched by Amit
Shah for the Border Security Force?

(A) Pratihari app (B) Rakshak app

(C) Prahari app (D) Palan app

(E) Guard app

10. Maharatna Company REC Limited has
organized "Bijli Utsav" in which state?

(A) Meghalaya (B) Tripura

(C) Mizoram (D) Bihar

(E) Assam

6-{B} - 7-{C} - 8-{D} - 9-{C} -10-{E}
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1. Which type of mirror is used while shaving?
(A) Concave mirror (B) Convex mirror
(C) Plane mirror (D) No specific mirror

2. Which metal is used in the filament of
bulbs?

(A) Copper

(C) Molybdenum

(B) Silicon
(D) Tungsten

3. The distance between the successive crests
of the wave is called as its

(A) Amplitude (B) Frequency

(C) Wavelength (D) Altitude

4. Grey revolution is related to production
which of the following?

(A) Oilseeds (B) Fertilizers

(C) Pulses (D) Cereals

5. Who propounded the theory of ‘Purity of
Gametes’?
(A) Mendel
(C) Lamarck

(B) Darwin
(D) Hugo de Vries

6. Recentlyy DRDO has handed over a
Technology for indigenous ECWCS to five
Indian companies.

Consider the following statements regarding

Defence  Research  and
Organisation: -

(1) DRDO was established in 1949.

(2) It works under the administrative control
of the Ministry of Defence.

(3) It aims to establish a world class science
and technology base for India.

Which of the above is/are correct?

Development

(A) Only (1) and (3)
(C) Only (3) and (2)

(B) Only (2) and (1)
(D) None of the above

7. Recently, an application seeking
Geographical Indication (GI) tag for the
Arunachal Pradesh Apatani textile product
has been filed by a firm.

Consider the following statements regarding
Apatani Tribes: -

(1) Aaptani are a tribal group of people living
in the Ziro valley in Arunachal Pradesh.

(2) They speak a local language called Tani
and worship the sun and the moon.

(3) They follow a sustainable social forestry
system.

Which of the above is/are correct?

(A)Only (1)and (2)  (B) Only (2) and (3)
(C)Only 3)and (1) (D) All are correct

8. On the eve of Good Governance Day the
Ministry of Housing and Urban Affairs
(MoHUA) launched the "Star Rating Protocol
of Garbage Free Cities- Toolkit 2022".
Consider the following statements regarding
Garbage in India: -

(1) India generates the second highest amount
of waste in the world.

(2) The per capita waste generation in Indian
cities ranges from 200 grams to 600 grams per
day.

(3) It is estimated that by 2050, India’s waste
generation will double.

Which of the above is/are correct?

(A) Only (1)and (2)  (B) Only (2) and (3)
(C)Only 3)and (1) (D) All are correct

1-{A} - 2-{Dj - 3-{C} - 4-{B§ - 5-1A} - 6-1C} - 7-{D} 8- B}
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1. Judicial review in the
Constitution is based on:

(A) Rule of Law

(B) Due process of Law

(C) Procedure established by Law

(D) Precedents and Conventions

Indian

2. Which articles of the constitution have
Hindi language?
(A) Article 330
(C) Article-343
(D) Article-352

(B) Article -336

3. The design of the National Flag was
adopted by the Constituent Assembly of
India in:

(A) July, 1948 (B) July, 1950

(C) July, 1947
(D) August, 1947

4. The most important feature of
Cabinet system of Government is-

(A) Individual responsibility

(B) Collective responsibility

(C) Responsibility to none

(D) Non-responsibility

S. For whom is the Supreme Court the
guardian by Article 132?

(A) Fundamental Rights

(B) Directive Principles

(C) Center and State Disputes

DAILY GENERAL STUDIES QUIZ

POLITY

(D) Permeable

6.Which of the following pairs is
correctly matched?

(A) Amendment Procedure: Article 268

(B) Duties of Prime Minister: Article 74
(C) President’s Rule: Article 365

(D) Inter-State Council: Article 263

7.Consider the following statements:

1. The first Lok Sabha speaker was Ganesh
Vasudev Mawalankar.2. After the death of
Ganesh ~ Vasudev = Mawalankar, M.
Ananthasayanam Ayyangar was elected the
second president of the first Lok Sabha.
Which of the statements given above is/are
correct?

(A) 1 only

(C) Both 1 and 2
(D) Neither 1 nor 2

(B) 2 only

8. Consider the following statements:

1. The chairman of the steering committee
was Dr. Rajandra Prasad.2. The provision
of anti-defection was first used immediately
after the first election of Lok Sabha.

Which of the statements given above is/are
correct?

(A) 1 only

(B) 2 only

(C) Both 1 and 2

(D) Neither 1 nor 2

1-{C} - 2-{C§ - 3-{C} - 4-{Bj - 5-1A} - 61D} -T{C}-8{A}
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v’ Legendary football player Pele (Edson Arantes do

Nascimento), who has passed away recently, hails from

which country? Brazil

India-assisted Mangdechhu Hydroelectric Power Project has

been recently handed over to which country? Bhutan

PM Narendra Modi's mother Heeraben Modi, who passed

away recently, belongs to which community? Modh-

Ghanchi community

Who has been named as acting Central Vigilance

Commissioner? Praveen K Srivastava

Which state has become first in the country to pass the

Lokayukta Bill? Maharashtra

Recently, launched draft guidelines for a new ranking system

of cities by Union Minister of Housing and Urban Affairs,

Hardeep Singh Puri i1s based on which elements? Finance

and Beauty

Who has been sworn in as the Prime minister of Israel in

December 20227 Benjamin Netanyahu

Who has launched "Stay Safe Online" Campaign and "G20

Digital Innovation Alliance"? Ashwini Vaishnaw

Which app has recently launched by Amit Shah for the

Border Security Force? Prahari app

Maharatna Company REC Limited has organized "Byli

Utsav" in which state? Assam
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HUMAN DEVELOPMENT INDEX

The Human Development Index (HDI) 1s a statistic composite index of
life expectancy, education and per capita income indicators, which are
used to rank countries mnto four tiers of human development.

The annual Human Development Index report is released by the
United Nations Development Program (UNDP).

Important Points :-

The HDR measures development by —

Combining three indicators—Health, Education and Standard of
Living—converted into a composite human development index, the HDI.
The Education component of the HDI is now (since HDR-2010)
measured by two other indicators—

Mean of years of schooling (for adults aged 25 years)

Expected years of schooling (for children of school entering age)

The Health component is measured by the life expectancy at birth
component of the HDI and is calculated using a minimum value of 20

years and maximum value of 83.57 years.
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(VOCABULARY)

1. disenfranchised (Verb)-

Meaning: Lacking sufficient power or
strength

Synonyms: vulnerable, defenceless,
ineffectual, dependent, feeble, impuissant
Antonyms: strong, mighty, potent, puissant
Usage: He could harvest the sentiments of
those disenfranchised and brutalized by the
market

2. tenuous (Adj) -

Meaning: Very slender or fine

Synonyms: cthereal, narrow, reedy, twiggy,
light, insubstantial, dainty, vaporous
Antonyms: substantial, convincing,
significant, solid, sound, definite

Usage: This apoliticism of the AAP, however,
was always a tenuous claim.

3. whirlwind (Adj) —

Meaning: Moving or proceeding with
significant speed

Synonyms: headlong, impulsive, dizzy,
tumultuous

Antonyms: prepense, vigilant, well-thought-
out, apprehensive, reserved

Usage: But the whirlwind unleashed(unravel,
reveal, release) by the Bharatiya Janata Party
threw him off balance on his tightrope.

4. purged (Verb) —
Meaning: rid of; clean out

Synonyms: evicted, excluded, exterminated,
sacked, absolved, cleared out, forgave
Antonyms: castigated, charged, condemned,
constructed, created, dirtied

Usage: They were purged from the party.

(ONE WORD SUBSTITUTION)

5. The schedule of travel — Itinerary

6. A person employed as a car driver for an
important person — Chauffeur

(MISSPELT WORDS)

7. (A) Econnomical (B) Economical
(C) Economicle

(D) Economiccal

8. (A) Exseption
(B) Excepption
(C) Exceptionn
(D) Exception

(IDIOMS AND PHRASES)

9. Cloud of suspicion:
Meaning: If a cloud of suspicion hangs over
an individual, it means that they are not
believed or are distrusted.

Example: There's a cloud of suspicion in
work after it came to light that someone has
been stealing from the cash registers.
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(VOCABULARY)

1. disenfranchised (Verb)- sw@faa, wme g

Meaning: Lacking sufficient power or
strength

Synonyms: vulnerable, defenceless,
ineffectual, dependent, feeble, impuissant
Antonyms: strong, mighty, potent, puissant
Usage: He could harvest the sentiments of
those disenfranchised and brutalized by the
market

2. tenuous (Adj) — =fa

Meaning: Very slender or fine

Synonyms: cthereal, narrow, reedy, twiggy,
light, insubstantial, dainty, vaporous
Antonyms: substantial, convincing,
significant, solid, sound, definite

Usage: This apoliticism of the AAP, however,
was always a tenuous claim.

3. whirlwind (Adj) — ===t

Meaning: Moving or proceeding with
significant speed

Synonyms: headlong, impulsive, dizzy,
tumultuous

Antonyms: prepense, vigilant, well-thought-
out, apprehensive, reserved

Usage: But the whirlwind unleashed(unravel,
reveal, release) by the Bharatiya Janata Party
threw him off balance on his tightrope.

4. purged (Verb) — 71a &1
Meaning: rid of; clean out

Synonyms: evicted, excluded, exterminated,
sacked, absolved, cleared out, forgave
Antonyms: castigated, charged, condemned,
constructed, created, dirtied

Usage: They were purged from the party.

(ONE WORD SUBSTITUTION)

5. The schedule of travel — Itinerary st
Hareft

6. A person employed as a car driver for an
important person — Chauffeur gz

(MISSPELT WORDS)

7. (A) Econnomical
(C) Economicle
(D) Economiccal

(B) Economical

8. (A) Exseption
(C) Exceptionn
(D) Exception

(B) Excepption

(IDIOMS AND PHRASES)

9. Cloud of suspicion:
Meaning: If a cloud of suspicion hangs over
an individual, it means that they are not

believed or are distrusted.

Example: There's a cloud of suspicion in
work after it came to light that someone has
been stealing from the cash registers.
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1. Foreign Trade Policy is Framed by whom?
(A) RBI (B) EXIM Bank

(C) DGFT

(D) Ministry of Statistics

(E) Ministry of Commerce

2. What is "channel Financing"?

(A) Financing of supply-delivery chain
(B) Laying of agriculture canals

(C) Financing through NBFCs

(D) Financing through RRBs

(E) None of the above

3. Which one of the following is not correctly
matched?

(A) Rural Credit: NABARD

(B) Industrial: SIDBI

(C) Rural Poverty: SISRY

(D) Disguised: Subsistence unemployment
agriculture

(E) All are correctly matched

4. Currency Chest Slip is Serially numbered at
the beginning of each year from:

(A) January to December (B) March to April

(C) April to march (D) July to June

(E) June to July

5. Know Your Customer (KYC) guidelines are
as per the provision of:

(A) Section 35 of Negotiable Instruments Act,
1881

(B) Section 35A of Banking Regulation Act, 1949
(C) Section 35A of RBI Act, 1934

(D) IBA guidelines

(E) None of these

1-{E} - 2-{A} - 3-{C} - 4-{C} - 5-{B} -

6. Which intergovernmental organization
celebrates International Day for Biological
Diversity on 22 May every year to raise
awareness about the issue of significant
reduction in biological diversity?

(A) UNICEF (B) UN

(C) UNESCO (D) UNGC

(E) None of these

7. The Micro credit started from which of the
following country?
(A) USA

(C) Bangladesh

(E) Russia

(B) India
(D) Japan

8. National Savings Certificate matures at the
end of-

(A) Six years

(C) Seven years
(E) None of these

(B) Six and half years
(D) Eight years

9. The first Indian RRB that is sponsored by
the Union Bank that has achieved core
banking solution is:

(A) Kheladi Grameen Bank

(B) Riddhi Siddhi Grameen Bank

(C) Rewa Siddhi Grameen Bank

(D) The Rewa-Dahej Bank

(E) None of these

10. Who is the main watchdog of international
trade?
(A) IMF
(C) GATT
(D) IFC
(E) WTO

(B) World Bank

6-{B} - 7-{C} -8-{A} - 9-{C} - 10-{E}
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1. Foror samame fifer ferereh g amms g &2 6. Sifoes fafaear & wecauot &+t & A2 % AR
(A) IR fisd s (B) Uferem sk ATTERAT dg & o0 U 99 22 WE &l AfTh
(C) T MR weTfesme fafaear & fow o @ il TTeT Siaise
(D) \ifewshl T
(E) aforsg Haterd

(A) SATfd-Feraeor st 1 fararyor

(B) Y forshre o1 3ea

(C) T IuwHt o ureay § fam o 7. ATghI hise Fferiad o & fore o1 & 1 gatm?

(D) AR 3 wream ¥ fawr aror (A) afER (B) 9Rd

(E) 30 8 18 oft e} (C) AT (D) ST
(E) &F

3. Fraferfaa o @ @t ar v @@t & & o T @A

27 8. T rerd Uat 3 e o ufoarer 2t 8-

(A) TTHior H1g: AT (A)B: 91 (B) 91¢ B8 1A

(B) Sftenfire: faesft (C)|rd a1t (D) 3113 9

(C) Tretor Tl TESITESTRETE (E) 370 § 1S Tl

(D) J=&5T: SISATRY 1Y frafe

(E) @t 9 & 9 Al @l & 9. R SR AeAVH TH HA AN IHIA qh ZRO
T AT AT QX ATH T S 2:

4. 2T < TeTa ot ek 9 <hl AT § shiteh &0 8 (A) Wit Ao i

frr smaT & (B) fifg fafg mior S

(A) SHad ¥ fegst (B) U= ¥ 313 (C) Tia fafeg mmior ok

OEFEEEE] (D) S[ETS & 5 (D) fiar-ge dh

(E) ST & Sfetg (E) 30 & 18 Tl

5. 7 AR HEEH (KYC) & feon-Few i & srame e 10. siovisgta samam o1 wea wadt & 22
(A) Tk forad srferfem, 1881 2T & 35 (A) TS HaT 1S

(B) stk fafremg srfafiem, 1949 Fremr 35T (B) fag s

(C) 3Tsfierts arfafem, 1934 freamr 35t (C)e

(D) 3Trsftu 3 femm fdar (D) 3TTEUHH

(E) 374 9 I3 T2 BESECEl

1-{E} - 2-{A} - 3-{C} - 4-{C} - 5-{B} - 6-{B} - 7-{C} -8-{A!} - 9-{C} - 10-{E}
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1. ARATT wfaem & form s ® ot # demadt & (A) 22.22% B) 11.11%

T3 3k [HaTeA Iivhal 2 STETed & foTe watw (C) 33.33% (D) 378 T i3 &

IUSY e MU §2

(A) T 245 (B) =58 244 7. Ueh SHfxh STUAT AT T 25% TATAT gl IHehT 3T

(C) 313 243 (D) 3% 242 T 20% Y qheg Tt & 3R T oft 98 veet it W@ A
aﬁmm% FF@AATvE A 2l

2. Tfereh IU 3 Telt foRent 3 wTdshe | Y e ¥ (A)25

I hifdl <hl YTHaTTd el 55 off? ,

(A) 1966 (B) 1970 (©) 25 (D) 26

(C) 1978 (D) 1987

(B) 24

8. UTHTT TR & fE-®iehet o ¥ TwT o ey
3. fa=at 3 worm e B- AT SHU: B 22
(A) TS e e (B) seciens (A) 3TIdd 3 3
(C) WA= elers (D) TTAFT g (B) 3aa 31X 7aaal
(C) fafir=1 wierw wTTE & ST 31Fdd od
4. PR Eifam s % - (D) fafT=T Brerd IS o GHT 3ad oiF

(A) T&dh (B) €I
(C) et (D) FaTE 9, T T IUAM, & HROT e oo |

foremie o fAutor & foru R wmar 2 -
5. ﬁﬁw%ﬂﬁt{wﬁwﬁﬁsﬁﬁﬁmaﬁm (A) 3= e (B) = fafyre wfcdy
() 3= YT 3cdsieh TIfh
(D) == fafsrs gl

10. WeRTIT ok farerqur it furfa o, @@ BT a@m g
Y TeRTeT a4 Bt 7?2

6. AT 16 IETT AT AT Hed 12 TEGAT & fashar (A) T e caftd 37T afdd

T 3 AR § 31 12 S O T 6 aqet w ey (B) Hord 37t efinft i syt

¥ TR 31 T v 3R g wfr ¥ s whiera (C) B A I S sEfid
farg ofax FTa ifeTw? (D) TeT8 1 et 7R srvafda

1-{C} - 2-{A} - 3-{B} - 4-{D} - 5-{C} - 6-{A} - 7-{D} - 8-{A} -9-{A} -10-{B}
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1. The ratio between the breadth and height of the
parallelogram is 4: 3. The perimeter of the
parallelogram is 56 m. Find the area of a
parallelogram?
(1) 192 Sq m

(3) 294 Sqm

(5) None of these

(2) 356 Sqm
(4) 278 Sqm

2. A, B and C started a business by investing Rs.
12000, Rs. 18000 and Rs. 25000 respectively. After 5
months, C withdraws the whole amount and at the
same time D enters into a business by investing Rs.
20000. If the total profit at the end of the year is Rs.
75000, then find the share of D?

(1) Rs. 17200 (2) Rs. 16800

(3) Rs. 18500 (4) Rs. 18900

(5) None of these

3. The total area of a Square and rectangle is 444 Sq
cm. The side of the square is 12 ¢cm. What is the sum
of the perimeter of square and rectangle, if length of
the rectangle is 30 cm?
(1) 120 cm

(3) 128 cm

(5) None of these

(2) 140 cm
(4) 160 cm

4. The proportion of sugar and rava in 3 samples is
3:1, 4:3 and 5:4. A mixture comprising of equal
quantities of all 3 samples is made. The proportion
of sugar and rava in the mixture is:

(1) 453:241 (2) 461:277

(3)473:283 (4) 482:259

(5) None of these

5. In a definite sum of money, the simple interest for
2 years is Rs. 80, while the compound interest is Rs.
85, the rate of interest being the same in both the
cases. The rate of interest is:

1) 7% (2) 15.5%

(3) 12.5% 4) 17.5%

(5) None of these

1-{1} - 2-{2} - 3-{3} - 4-{3} -

6. If the tax be reduced from 7 - % to 7 - % then

what a difference does it make to a person who
purchases an article with marked price is Rs.12300?
(1) Rs.3.67 (2) Rs.4.76

(3) Rs.6.15

(4) Rs.5.67

(5) None of these

7. The simple interest on a sum of money is (1/16)th

of the principle. The number of years is equal to the

rate of interest per annum. Find the rate of interest

per annum?

1)2.5%
3)3.5%

(5) None of these

2)5.5%
(4) 4.5 %

8. The speed of the man in still water is 20 km/hr and
the rate of flow of water is 12 km/hr. He takes 30
hours to row to a place and back. Find the distance
between these two places?

(1) 175 km (2) 156 km

(3) 184 km (4) 192 km

(5) None of these

9. The present age of the four members of the family
is 124 years. 3 years ago, four members of A, B, C
and D were in the ratio of 2: 3: 4: 5. After how many
years will the age of A be equal to the present age of
D?

(1) 32 years

(3) 35 years

(5) None of these

(2) 24 years
(4) 26 years

10. After 2 years, A’s age is equal to the present age
of B. 4 years ago, C’s age is thrice the age of B. Find
the A’s present age, if the present age of C is 22
years?

(1) 12 years

(3) 15 years

(5) None of these

(2) 8 years
(4) 17 years

5-{3} - 6-{3} - 7-{1} - 8-{4}-9{2}-10{2}
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1. T TGS hl ATST3 AR FaTs o ol T ATUTa 4 : 3
| TR ague i aitfyr 56 Wer ¥ wuEie agds @
ST FTd 2
(1) 192 =f Hiex
(3) 294 = Hiex

(5) FTH " 1S T

(2) 356 = Hiex
(4) 278 Tt wfieT

2. A, B 3 C ¥ HAI: 12000 T, 18000 T 37T 25000 T fasr
ek Ueh SAETd ITE U 21 | 5 WaiA & arg, C ot afvr ama|
AT ¢ 3 IH wuA D 20000 % AT ek sgaEE ¥ waw
AT B AT A o o | FHer o1 75000 I &, A D 6 fewwn
A L2

(1) 17200 &7
(3) 18500 &7

(5) 370 & 1S e

(2) 16800 &5
(4) 18900 &5

3. U a1 31X Ueh ATAT T Hel AAHS 444 T AT g1 0T hr
T 12 Bt 31 ATY sraa <y wang 30 A R, A a9 o aEw
o UTTEr Rt 0T /T B2
(1) 120 Y

(3) 128 |t

(5) T8 & g Tl

(2) 140 Tt
(4) 160 Tt

4. 3 AT # <A SR T BT FTAE 3: 1, 4: 3 HR5: 471 TH
fororor arrg et €, R weft 3 AT v e A e 2
fororor & =fi=ft o Tam @ Ut @ &

(1) 453:241 (2) 461:277

(3) 473:283 (4) 482:259

(5) 50 A I T

5. Uk fAfira widt ®, 2 9rer & fore wramor s 80 TR B,
Wafeh ehdllg SATS 85 TUA 7, FAT Rurfadi # = o THIA
Bl ST AT R
) 7%

3) 12.5%

(5) T8 & g Tl

(2) 15.5%
4) 17.5%

6.aﬁw7%%ﬁm7%%wﬁmw%aﬁwm
afvs S ST 12300 FUF & 3ifeha qod ATt ATEG R AT 8
feraaT et FaT B2
(1) £.3.67
(3)%6.15

(5) T & TS T

(2)®.4.76
(4) ®.5.67

7. Ueh SARIST ST ATUROT ST, Here T (1/16) o 21 a6t 6t
A ufa a¥ sare it o o e g1 Ufaad ST o AT w2
1) 2.5% (2)5.5%

(3)3.5% @) 4.5 %

(5) 3T € i3 T

8. feor st o =ufem <t i 20 feret / vt 8 3R ot & ware
Y 2T 12 Teret / 2T 21 97 U STE <R 31 ST 3T e ' 30

T TIAT B 3 3Y TATAT o e i 7T B

(1) 175 feredt
(3) 184 foprft
(5) T8 & 1S T

(2) 156 Tt
(4) 192 Tt

9. UINETR o T FEEAT i ST AT T AT 124 T 71 3 A1
UEH, AR TEET A, B, C SR DA IW2:3:4: 5% squma &
oft| foreat ot aTe A &t 3W, D ol TET 30 & aNrE ae?

(1) 32a¢ (2) 24 9%

(3)35ad

(4) 26 a9

(5) S0 & S 7

10. 2 9% aTE, A T AT B HT TAH AT F T Bl 4 T
UgA C Y 30 B T 30 bl ot T 21 A Y ST I AT R,
afy C & adw IW 22 A R?

(1) 1279 ) 8

(3) 15

@) 17

(5) 37§ I3 T

1-{1} - 2-{2} - 3-{3} - 4-{3} - 5-{3} - 6-{3} - 7-{1} - 8-{4}-9{2}-10{2}
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Directions (1-5): In the following question
assuming the given statements to be true, find
which of the conclusion among given five
conclusions is/are definitely true and then give
your answers accordingly.

1. Statements: B<O<T=U<N; N<L<M
Conclusions: . N=B Il. N>B

(1) Only conclusion II follows

(2) Both conclusion I and II follows

(3) Either conclusion I or II follows

(4) Neither conclusion I nor II follows

(5) Only conclusion I follow

2. Statements: R<E=1>D; D>F=G
Conclusions: . GSE II. R<G

(1) Either conclusion I or II follows

(2) Neither conclusion I nor II follows

(3) Both conclusion I and II follows

(4) Only conclusion I follow

(5) Only conclusion II follows

3. Statements: B<1=7<F;
Conclusions: . S>B I. K>1
(1) Either conclusion I or II follows
(2) Only conclusion I follow

(3) Both conclusion I and II follows
(4) Only conclusion II follows

(5) Neither conclusion I nor II follows

S>F;

4. Statements: B<I=7Z<F;
Conclusions: . Z>K [I. B> Z
(1) Neither conclusion I nor II follows
(2) Only conclusion I follow

(3) Either conclusion I or II follows
(4) Only conclusion II follows

(5) Both conclusion I and II follows

S>F;

5. Statements: L<A>W; W<]J=U<D<E; E
=T<0

Conclusions: . L<U II. W<E

(1) Only conclusion II follows

(2) Only conclusion I follow

(3) Either conclusion I or II follows

(4) Neither conclusion I nor II follows

(5) Both conclusion I and II follows

6. How many pairs of letters are there in the
word ‘KANPUR’ which have as many letters
between them in the word as in alphabetical
series (Both forward and backward)?

(1) One (2) Two

(3) Three (4) Four

(5) None of these

7. If it is possible to make a meaningful word
with the First, fifth, sixth, eighth, Tenth, Twelfth
and Thirteenth letters of the word
“RIAUTHOTARIAN”. What would be the Fifth
letter of the newly formed word? If more than
one such word can be formed give X as the
answer. If no such word can be formed, give Y as
your answer.

(1) Cant determined
R)R

(5) None of these

(2) one
“4) X

8. How many pairs of Numbers are there in the
Numbers “7214681035” which have as many
Numbers between them in the number as they
have in the natural numbers (Both forward and
backward)?
(1)6

3)9

(5) None of these

(2)7
(4)8

1-{3} - 2-145 - 3-{3§ - 4-1§ - 5-113-611}-743}-813}
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fEw (1-5): Fefafaa g A T MU R g oA 5. %o LS A 2W: W<J=US< D<E; E=T< 0

Y, I8 gaT ore {6 fau g uiwr et § @ @ @ e LL<U

foeerd ffara &0 & v 7 o foR aagam oraar 3w d)

.®AT:BSOST=USN; N<L<M
fwrd: LN =B IL.N>B

(1) et Ty 11 STTaT Ll &

(2) ST RS [ 3T 11 STTE0T Ll &

(3) A1 A TR [ AT 11 1607 Ll &

(4) 7 a1 Fsehed 17 11 376 Lt &

(5) et Ty [ ST el @
2.&%FIT: RS E=1>D; D2F=G
fAwd: 1. G <E ILR<G
(1) Tt foreared 131 11 160 e @
(2) 7 T fread [ 7 11 18 e @
(3) AT Tt 1| ST 11 16T el @
(4) Fa FeeRY [ ST Ll &
(5) et TRy 11 T80T Ll &
3.®AM:B< [=Z<F, S>F, K=28
ferd: .S>B ILK>I
(1) 31 QT TR [ AT 11 7607 Ll &
(2) A FeeRY [ ST Ll &
(3) AT foreed 1 ST 11 ST it @
(4) et TRy 11 T80T Ll &
(5) 7 A TS [ 7 [T STTET0T el @
4. ®AT:B<1=7Z<F, S>F; K2S
e L. Z2>K I.B=Z

(1) 7 @t Feehed 17 11 37760 ot &

(2) Fa FeaRe [ ST Ll B

(3) T it fshe [ 2T 11 78T e 2

(4) et IR 11 78T edT 2

(5) ST Y [ 3 11 STTE0T LT &

IL.W<E
(1) A Feehe 11 T80T Ll &

(2) et Ty [ STTE0T LT 2

(3) A1 I TS [ 7 11 ST6T0T 2t &
(4) 7T e 17 11 180 it @
(5) AT foreared 1 ST 11 ST e 8

6. “KANPUR” 1&g W 31e/i & 00 fohaw wig & ek
afrer 3a B 218 B (3 3R Ui 2T) e fom srotaren
ST & Ik el Bt 82
(1) Tk
@)=
(4) 9

(5) S5 § 1S T

()

7. af¢ "RIAUTHOTARIAN" s & Ugdl, Uied, B9,
HTed, 20, TREd SR dEd HeRT & T UTdw e
AT WS 8, A1 U T(Sq 9165 T UTaaT &R T gITr?
Tfe Uk T fw W IeE I ASA e Al X HI W H ETH
3| s T HIE 6T AET SATAT AT AHAT E, AT Y H ETH
JTOAT I 3|

(1) I T&1 R ST |k (2) T

3)Y

4)X

3N

8. “7214681035 TwAT ¥ UH foha weatel & A §
R after 33 # wreard § R f e, areanat
I el 21 ¢ (3T 3 i 2T)?

(16 2)7

3)9

4)38

(5) T8 @ IE T

1-{3} - 2-145 - 3-{3§ - 4-1§ - 5-113-611}-743}-813}
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» What 1s the temperature at which both the

Fahrenheit and the centigrade scales have the same
value? - 40°

» The principle used in working of an atom bomb is .
Nuclear Fission

» What is the unit used to measure the depth of sea?
Fathom

» Lambert’s Law 1s related to . Illlumination

» In a Battery, which energy is converted into
Electrical energy? Chemical Energy

» The longitudinal mechanical waves of less than 20
Hz are called . Infrasonic

» Distance of stars are measured 1n ? Light Years

» Albert Einstein was awarded the Noble prize for .
Photoelectric Effect

» What are the substances participating in a reaction
called? reactant

BY : AJAY GUPTA SIR
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I I 91 a9 2 9 W wRAREe R 9 A1 GHE
T {1 {HTE 8T 82 -40 =7t

GCHT] 519 forer ferga X 3T @ | ooy foreee
THZ 1 e AT o ToTT for 3eTs b1 ST foRarm STl 22
e

TS T T geiferd 21 getae

S | o HF il e Sl H INafd aidl 8? THE
Sl

20T H FH hI e FiLH T Bl e ST T
SRR
T sh gl AT STt @ 2 SR &
IS HATGEIH 1 Aleel TR § FHATH foram T ol
EEINACECRKIC]

> ol srfuferar & 9 o9 91 werd F@ wEdd € 2
S I carey

BY : AJAY GUPTA SIR
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About the Book-

An actor, producer and humanitarian, Sonu Sood wrote his
autobiography book titled "I Am No Messiah". The book co-authored
by Meena Iyer. The book account the experience of Sonu Sood during
the COVID-19 pandemic. The book is published by Penguin
Random House India and released in December 2020.
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Little Andaman Island

This island 1s part of the Little Andaman Group (Little Andaman is the
counterpart of Great Andamans). This island is the fourth largest island
in Andamans.

At a distance of about 120 Kilometers by sea from the capital town of Port
Blair, this island has become a tribal reserve from sometime near to 1957.
This 1s considered home to the Onge Tribes, even though there
are multilingual settlers of Bengali, Tamil, Telugu, and Ranchi
communities.

Lying at the southern end of the archipelago, Hut Bay Jetty is the only
harbor for ships or boats coming into this island from the capital town —
Port Blair.

Little Andamans 1is less explored due to the limited mode of
connection with the capital town of Port Blair.
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Turkey

Turkey officially the Republic of Turkey, is a country straddling
Western Asia and Southeast Europe.

Bordered by : Bulgaria, Greece, Georgia, Armenia, Iran, Iraq and
Syria.

Sea: Opens out Black sea to the North, Mediterranean Sea to the South,
Sea of Marmara in north west and Aegean sea in the west.

Important information: Hagia Sophia, UNESCO World Heritage site
which was converted into mosque recently was located in Turkey.

Turks form the vast majority of the nation's population and Kurds are
the largest minority. Its capital is Ankara while its largest city and
financial centre is Istanbul.

Turkey 1s a regional power and a newly industrialized country, with a
geopolitically strategic location.
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SIGNIFICANCE OF THE DAY
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On December 31, 1600, Queen Elizabeth I of England ordered the
registration of the East India Company. The Queen ordered the
registration of this company for trade with East Asia, South East
Asia and India. The East India Company was established mainly
for the trade of spices.

1781 - The first bank in America opened in 'Bank of North America'.
1929 - Congress workers under the leadership of Mahatma Gandhi
started the movement for complete independence in Lahore.

1984 - Rajiv Gandhi became the seventh Prime Minister of India at the
age of 40.

2008 - It was announced to make Ishwardas Rohini the Speaker of the
Madhya Pradesh Legislative Assembly for the second time.

1866 - Chief Minister of Bihar and freedom fighter Krishna Ballabh
Sahay was born.
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Kanaiyalal Maneklal Munshi ’

» A freedom fighter and lawyer
from Gujarat, he participated in
the Salt Satyagrah and CDM as
Congress member.

» He was appointed as Home
Minister Bombay 1in 1937
elections.

» He was also arrested during
individual Satyagrah (1940).

> He was a member of Constituent Assembly.

» He played a significant role in merging Hyderabad
with the Indian Union.

» He served as Union Food Minister in 1952 Cabinet,
and Governor of UP (1953-58).

» In 1960, he joined the Swatantra Party.

» Magazines/journals- Bhargava, Gujarat, Social
Welfare, Journal.

» Books—"I Follow the Mahatma", "The Creative Art or
Life", "Akhand Hindustan, and Pilgrimage to Freedom".
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1-{A} - 2-{C} - 3-{A} - 4-{C} - 5-{C} - 6-{D} - 7-{D} - 8-{A}
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Direction (1-5) Study the following information carefully and answer the
questions below.

Seven boxes A, B, C, D, E, F, and G are arranged in one heap above each
other but are not necessary in this order. Only one box is placed between the
box A and F. Only three boxes are placed above the box A. Only two boxes
are placed between the B and D boxes. Box D is placed below box B. Boxes
are placed between C and D as many boxes are kept between the G and C
boxes.

1. Which of the following boxes is 4. If all the boxes are arranged in
placed at top in the stack? alphabetical order from top to
(HE 2)F bottom. Then, how many of the
3)G 4)B boxes were remains unchanged?
(5)C (1) One (2) None
(3) Two
2. How many boxes are kept (4)Four
between the boxes F and B? (5) Three
(1) None (2) One
(3) Two (4) Three 5. If the box E is related to box G
(5) More than three and the box B is related to box F in
a certain way. Then, box D is
3. Which of the following boxes is related to which of the following
placed immediately below the box boxes?
D? (HA (2)C
() F 2)A 3)E
3)C (4)B 4)B
5)E (5) None of these

1-43} - 2-{4} - 3-{1} - 4-{5} - 5-{2}
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Direction (1-5) Study the following information carefully and answer the questions given

below:

The following table represents the number of days taken by three students (named SI. S2 and
S3) of different colleges to complete a piece of work. Some values are missing.

Colleges | S1 Y/

3 S1452+83

14

15 840/221

16

8

20 120/31

16 80117

12

16

80/33

10

1. Number of days taken by S2 of college
M to complete the work alone is what
percent of the number of days taken by
S2 of college P to complete the work
alone?

(1) 35%

(3) 30%

(5) None of these

(2) 20%
(4) 40%

2. Find the number of days taken by S1
of college 0 and S1 of college R to
complete the work together.

(1) 6 days (2) 4 days

(3) 5 days (4) 3 days

(5) None of these

3. If S3 of college N can complete the
work in 15 days and S3 of college Q can
complete the work in 30 days find the
respective ratio of the number of days

taken by all the three students of college
N and college Q to complete the work
together.
(1) 34:41
(3)51:44
(5) None of these

(2) 44:51
(4) 41:34

4. Find the number of days taken by S2
of all the college together to complete the
work.

(1) 4(6/17) days
(3) 2(6/17) days
(5) None of these

(2) 3(6/15) days
(4) 4(6/15) days

5. Find the number of days taken by S 1
of college N, S2 of college 0 and S3 of
college P to complete the work together.
(1) 3(9/13) days (2) 2(7/13) days

(3) 4(5/13) days (4) 1(8/13) days

(5) None of these

1-34} - 2-345 - 3-125 - 4355 - 5§
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Name of Stadium

City

State

Green Park

Kanpur

Uttar Pradesh

Eden Garden

Kolkata

West Bengal

Biju Patnaik Hockey Stadium

Bhubanesh
war

Odisha

Buddh International Circuit

Greater
Noida

Uttar Pradesh

Captain Roop Singh Stadium

Gwalior

Madhya
Pradesh

C.B.Patel International Cricket Stadium

Surat

Gujarat

D Y Patil Stadium

Mumbai

Maharashtra

Guru Nanak Stadium

Ludhiana

Punjab

International Hockey Stadium

Rajnandgao
n

Chattisgarh

K D Singh Babu Stadium

Lucknow

Uttar Pradesh

Ekana Cricket Stadium

Lucknow

Uttar Pradesh

Lal Bahadur Shastri Stadium

Telangana

Hyderabad

M A Chidambaram Stadium

Chennai

Tamil Nadu

Rajiv Gandhi International Stadium

Dehradun

Uttrakhand

Sawal Mansingh Stadium

Jaipur

Rajasthan

Mohali Cricket Ground

Mohali

Punjab
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Saturday, 31 December 2022

1. Legendary football player Pele (Edson
Arantes do Nascimento), who has passed
away recently, hails from which country?
(A) Brazil (B) Argentina

(C) France (D) Portugal

2, India-assisted Mangdechhu
Hydroelectric Power Project has been
recently handed over to which country?
(A) Sri Lanka (B) Bhutan

(C) Bangladesh (D) Nepal

3. PM Narendra Modi's mother Heeraben
Modi, who passed away recently, belongs
to which community?

(A) Artisan community

(B) Kshatriya community

(C) Modh-Ghanchi community

(D) Tribal community

4. Who has been named as acting Central
Vigilance Commissioner?

(A) Suresh N Patel

(B) Sanjay Kothari

(C) Sharad Kumar

(D) Praveen K Srivastava

5. Which state has become first in the
country to pass the Lokayukta Bill?

(A) Maharashtra (B) Tamil Nadu

(C) Telangana (D) Karnataka

6. Recently, launched draft guidelines for

1-{A} - 2-{B} - 3-{C} - 4-{D} - 5-{A!} -

a new ranking system of cities by Union
Minister of Housing and Urban Affairs,
Hardeep Singh Puri is based on which
elements?

(A) Population and Production

(B) Finance and Beauty

(C) Territory and Development

(D) Greenary and Taxes

7. Who has been sworn in as the Prime
minister of Israel in December 2022?

(A) Yair Lapid

(B) Naftali Bennett

(C) Benjamin Netanyahu

(D) Benny Gantz

8. Who has launched "Stay Safe Online"
Campaign and "G20 Digital Innovation
Alliance'?

(A) Narendra Modi (B) Piyush Goyal

(C) Amit Shah (D) Ashwini Vaishnaw

9. Which app has recently launched by
Amit Shah for the Border Security Force?
(A) Pratihar1 app (B) Rakshak app

(C) Prahari app (D) Palan app

10. Maharatna Company REC Limited
has organized "Bijli Utsav" in which
state?

(A) Meghalaya
(C) Mizoram

(B) Tripura
(D) Assam

6-{B} - 7-{C} - 8-{D} - 9-{C} -10-{D}
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1-{A} - 2-{B} - 3-{C} - 4-{D} - 5-{A!} - 6-{B} - 7-{C} - 8-{D} - 9-{C} -10-{D}
BY : SHIVENDRA PANDEY SIR
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v PM Modi's mother Heeraben Modi dies at the age
of 100

v Brazil's legendary footballer Pele dies at the age of
32

v" Netanyahu's new hardline Israeli govt sworn in

v' Indian-American Rajeev Badyal named to
National Space Council advisory group

v’ Alpine ski racing: Triple Olympic champion
Matthias Mayer retires

v’ Adani’s cement arm ACC wins National Safety
Award at 10th Global Safety Summit

v Amit Shah Launched “Prahari app” of the Border
Security Force in New Delhi

v Shriram Finance got $100 mn funding from ADB
for inclusive financing

v Biden signs $1.7 trillion government spending bill
into law

v" IAF successfully test-fires extended range version
of BrahMos air missile
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PIB/ PTI/NEWS ON AIR/ THE HINDU/ TANS/ BUSINESS STANDARD/ TIMES OF INDIA/ DECCAN HERALD/ HINDUSTAN TIMES/ BBC NEWS/
ALJAZEERA/ MIRROR.UK/ TIMES NOW/ ECONOMIC TIMES/ FINANCIAL EXPRESS/ INDIAN EXPRESS
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TESMUS

DAILY QUANT QUIZ 4 OPTIONS
Saturday, 31 December 2022

1. If the sum of two natural numbers is (A) 57.5 kg (B) 60.5 kg
24. And the sum of their squares is 290 (C) 62.5 kg
then finds the product of the numbers? (D) 61 kg
(A) 144 (B) 119
(C) 135 (D) 143 7. If the average of a group of numbers
is 45. If every terms of the group, S is
2. Compute 2489 + 248.9 + 24.89 + added and then multiplied by 2.5 then
2.489=? the new average will be?
(A) 2765.279 (B) 2865.279 (A) 125 (B) 62.5
(C) 2866.289 (D) 2766.289 (C) 135
(D) 135.5
3. Compute 1699 x 1701 =?
(A) 2998889 (B) 2899999 8. A shopkeeper marks up his goods by
(C) 2889999 (D) 2899999 20% and then uses a faulty weight of
300gm in place of 500gm, and then
4. A room dimensions are 68mx153m. gives a discount of 50% to his
Find how many minimum numbers of customers. What is his profit or loss
square tiles are required to completely %?
cover its floor? (A) 100% (B) 75%
(A) 36 (B) 18 (C) No profit no loss (D) 25%
(C) 72 (D) 85
9. A dealer sales his 5 books gain a
5. Find the HCF of 209/6,133/7,228/3  profit which is equal to CP of 3 books.
(A) 19/42 (B) 38/42 Then find the profit %.
(C) 95/42 (D) 76/42 (A) 60% (B) 20%
(©) 50% (D) 35%
6. The average weight of a group of
four friends is 56. If Binod joins them 10. 0.25% of 2.5% of 25% of 64000 x?
then the weight of the group becomes (A) 0.1 (B) 0.01
57.What s the weight of Binod? O)1 (D) 0.001

1-{D} - 2-{A} - 3-{C} - 4-{A} - 5-{A} - 6-{D} - 7-{A} - 8-{C}-9{A}-10{C}

BY : SHIVENDRA PANDEY SIR



TESMUS

DAILY QUANT QUIZ 4 OPTIONS
Saturday, 31 December 2022

1. A% 3 TTehfaes TEaTett ST ART 24 21 R IH (B) 60.5 kg

T T ART 290 2, A HEATSAT T TUEEHA 710 (C) 62.5 kg

e (D) 61 kg

(A) 144 (B) 119

(C) 135 (D) 143 7. ATS BEATSN o HHE T S 45 21 1S THE &6
TR Ug ¥ 5 AT AT @ SR o 2.5 | o

2. O HITTA 2489 + 248.9 + 24.89 +2.489 =?  TohaT ST & AY T f1Ea BNTT2

(A) 2765.279 (B) 2865.279 (A) 125 (B) 62.5

(C) 2866.289 (D) 2766.289 (C) 135 (D) 135.5

3. TUAT I 1699 X 1701 =2 8. Teh TG AU HTCT i 20% N H 3ifehet

(A) 2998889 (B) 2899999 "o forear & @i T 500 7T & = 9 300

(C) 2889999 (D) 2899999 T % 9T T T ITART HIT &, IR o
T TTEHT Tt 50% T TE JaT 8| IHRT @1 AT

4. Teh AR T AT 68 HieT x 153 HieT 2| U= gAY, T 82

YT T Tl TE TTEA | Sehd o 1018 Teh a1 HIEX (A) 100% (B) 75%

6 TRt =Iaw 213t hl SATAVAHAT BRIT? (C) No profit no loss (D) 25%

(A) 36 (B) 18

(C) 72 (D) 85 9. Teh St AU 5 GEaehi shi forshl WX 3 TEdehl
% d UeT & T @I T AT g ar o

5.209/6,133/7,228/3 T HCF FTa hifs0 BIGM GRS

(A) 19/42 (B) 38/42 (A) 60% (B) 20%
(C) 95/42 (D) 76/42 (C) 50% (D) 35%

6. IR SIEAT % WHE T AT AT 56 21 W 10. 64000 X 25% T 2.5% HT 0.25%?
fortg 3eRT T 3T & Y T T A9 57 A AT (A) 0.1 (B) 0.01
21 forie &1 o fRaaT 22 (€)1

(A) 57.5 kg (D) 0.001

1-{D} - 2-{A} - 3-{C} - 4-{A} - 5-{A} - 6-{D} - 7-{A} - 8-{C}-9{A}-10{C}

BY : SHIVENDRA PANDEY SIR



TESMUS

DAILY REASONING.QUIZ 4 OPTLIONS

Saturday, 31 December 2022

1. Which of the following figure will
complete the pattern in the question
figure?

w0
>,

2. Students are sitting in a row in
which the position of X is 17th from

again turns left and rides 20 km. How
far he is from the starting point?

(A) 0 km (B) 10km

(C) 20 km (D) 30 km

5. If 19@2#13=51 and 14@3#9=51,
then 15@3 #6="
(A) 55
(C) 51
(D) 76

(B) 69

6. Choose the number which is related
in the same way as the Alphabet and

the left and that of Y is 14th from the Number related in the first pair.

right. If they interchange their
positions, X’s position becomes 7th
from the left. How many students are
there in the row?
(A) 19
(O) 21

(B) 20
(D) 22

3. Pointing to a lady, Anju says, "She
is the sister of my brother's mother'.
How is the lady related to Anju?

(A) Mother-in-law  (B) Niece

(C) Aunt (D) Sister

4. A cyclist rides 20 km to the east,
then turn north and rides 20 km,

B4 . e
(A) 48
(©) 12

(B) 45
(D) 34

7. 96* + 277 is equal to?

(A) 932 + 292
(C) 862+ 372
(D) 762 + 472

(B) 722 + 692

8. Select the related letters from the
given alternative

KMOQ: PNLJ:: UWYA :?

(A) ZUXV (B) CVXT

(C) ZXVT

(D) BXYV

1-{C} - 2-1B} - 3-1C} - 4-{C} - 5-1C}-61A}-T{B}-8:C}

BY : SHIVENDRA PANDEY SIR



TESMUS

DAILY REASONING QUIZ 4 OPTIONS
Saturday, 31 December 2022
1. fraferfaa @ & = @t S arefa 9y Sar 3, o 98 ST #r @R 999 20 km
HATHI ok TTTET Y T HTA? ST &, O a1 3R 7g ST ¢ @i 20 forf,
STAT 81 o8 Rfeweh foreg & fohert g1 22
>z&/ (A) 0 km (B) 10km
A (C) 20 km

SO X 4 Vi
W e 5.9 19 @2#13=51qAT14 @ 3 #9 =51
(‘ AAI5@3#6=2

P s (A) 55 (B) 69
(C) 51 (D) 76
2. FT DA Uk Uik H 96 &| 39 Ulh | X &
TIAT FTC W 1791 § T feh Y T TATH e A 6. HeAT2d EEIAT kT T97 |
1497 3 afe ¥ AT AU FUA TAE H D:24 :: F:?
gfEfda &t o at X T ¥ o916 & 747 8 (A) 48 (B) 45
T | UTeh H e Tohad BT 82 (C) 12 (D) 34
(A) 19 (B) 20
(C) 21 (D) 22 7.96*+ 27 S E?
(A) 932 + 292 (B) 72% + 69°
3. ek AiEelT il 3R Hehd ohtd U 319 sadl (C) 867 + 377 (D) 762 + 47
2, "aE W WIS kT | h @@ 7" 9F Afge,
3 | Ky Hated 72 8. fau v forerew W @ Hefia vt 1 wEA
(A) | (B) Hisit CTy
(C) =r=h/Arey (D) & KMOQ : PNLJ:: UWYA : ?
(A) ZUXV (B) CVXT
4. U AI3Thet TAR o i AR 20 foreft. (C) ZXVT (D) BXYV

1-{C} - 2-1B} - 3-1C} - 4-{C} - 5-1C}-61A}-T{B}-8:C}

BY : SHIVENDRA PANDEY SIR
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